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PART - A / W - &

GENERAL INTELLIGENCE & REASONING / 9T SfgHT Us dehvrier

Directions: In questionnos. 1 to 5, select the related word/
letters/number from the given alternatives.

Frdor : v wEa 19 5 |, feu U fawedi § @ gia
IIsg /318l /HEA HI g |

1. 9:24::_7 :6

@) 3 ® 5 © 1 O 2
2. hive:bee::eyrie: _?
(A) pigeon (B) parrot
(C) eagle (D) sparrow
SO WYHEET S AS 2
(A) FIR (8) e
© TMee () fafem
3. STAR:RATS:: WARD:_?7 _
(A) DRAW (B) FAME
(&) SHINE (D) MICE
4. DCBA :WXYZ::JKL : _7_
(A) QPON (8) PONM
© SRQP (D) RQPO
5. DHLPTX: BFJMRV :: CGKOSW : _?
(A) UMQEIA (B) AIOMUQ
(© JKLMN (D) AEIMQU
6. Choose the similar group of numbers on the basis of

certain common properties they possess :

Tt Hemsl & G *1 T4 S S 8 9
T ¥
(31,19, 41)

(A) (16,27,11)
© (29,17,37)

(B)" (27, 29, 47)
D). (23, 33, 51)

Directions: In questions No. 7 to 12, find the odd number/

letters/number pair from the given alternatives.
Frdor : w1 w7 912 9% H, feu e fomedi 9 @ fawm
HeEA/ AR/ G I T

7. (A) (29,31)
© 67

(B) (47, 49)
©) (11,13)

8. (A) Lotus/<Hc (B) Rose/ 7RIS
(© Tulip/Zafera D) Marigold/a1

9. (A) bbb fff jjj (B) mmm qqq ttt
(O cceggg kkk (D) kkkooo sss

10.  (A) 8110 (B) 1189
(C© 1234 ©) 9100

11.  (A) Bronze/%i< (B) Brass/diad
(C) Steel/3T¥d - (D) Tin/feA

12.  (A) TEAP B) QIEM
(©) HIUL (D) ZOIV

13.  Arrange the following according to Dictionary.
vsgehisl § fou ok & STan fafan |
1. Fenestration 2.° Feather
3. Feedhead 4. Feature 5. Feminine
(A) 4,2,3,51 B) 4,2,3,1,5
© 2,4,1,5,3 D) 2,4,3,5,1

14. Whichrone of the given responses would be a
meaningful order of the following ?
1. Rivulet 2. Ocean 3. Tributary
4. River 5. Sea 6. Rain

Fre fasredl o @ wi-wn faswer 19 e gu ol |
Tiefeh SHH AR 2

1. few 2. PR 3. HEEE A
4. T 5. R 6. aui
(A) 641352 B 613452
© 561324 D) 653124

Directions : In question Nos. 15 and 16, which one set of
letters when sequentially placed at the gaps in the given
letter series shall complete it ?

Frder : ovs e 15 9 16 ¥, 18 %1 HIA-91 T Tl
T T AR T | & T 1R e 1 g w2

15. LU_TUPLUBTU_LUBT_P_UBTUP

(A) BPUL (B) LBPU
(© PBUL (D) BUPL
16. B_CCABB_CABBC_AB_CCA
(A) BCCB " (B) BBBC
(© BCBC (D) BBCC

SPACE FOR ROUGH WORK / T& &Td & fora g
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Directions : In question no. 17 and 18, a series is given,
with one/two term/s missing. Choose the correct
alternative from the given ones that will complete the series.

fder : w1 W 17 6iR 18 ¥, W arew fem 2, ford Ty
AR qE 8/E | fau T faeedl § @ g e fomen ghw S
HTHA HT QU HL |
17.  24,35,20,31,16,27 2 , 2 .

(A) 5,30 ® 9,9

(Q 12,23 D) 8,25

1 .2 5 .2 2 o,

8. 7-,82,92 125 162, 2
1 776" 5" T4" T3

50 2 4
@3 ® > © By 6

19.  Two persons A and B get the same salary. Their
basic pay are different. The allowances are 65%
and 80% of the basic pay respectively. What is the
ratio of the basic pay ?

3 IR A IR B 1 WA S et 1 SR
I - 81 s ot 99 % wasn: 65% 3R 80%
T U 999 B U R_ 2
(A) 11:10 ®) 12:11
@ 7:5 ©) 17:15

20.  Amanclimbing up a wall of 24 metres high, climbs
16 m on one day but slipped back by

3 m 40 cms in the evening. How far had the man
reached on that day ?

24 HieX Tt AR W =gH ATl UF AR e e
16 91, =@ @i oW F1 3 W, 4024, 1R frga
T 39 {7 58 AgH! foRat gT ggwn 2
(A) 19 m/™. 40 em/9. 1.
(B) 12.6 m/H.
© 11.4m/Hl.
) 12 m/Ht. 40 co/ 4.7,

21.  Two horses A and B run at a speed of 3 : 2 ratio in
the first lap; during the second lap the ratio differs
by 4:7; during the third lap the ratio differs by 8 : 9.

What is the difference in ratio of speed altogether
between the two horses ?

T HS A AR BIRS FFR A 3: 2 3@ F A A
e ¥; T THR B U FEAF 4 ;7 @ WY,

A FoR F U FeaH 8 : 98 Wl ¥ 1 S ue |

% o9 T foenet 31 v & faraT siaw &2
(A) 2 B 1 © 3 D) 4

Directions : In question Nos. 22 and 23, from the given
alternative words, select the word which cannot be formed
using the letters of the given word :

Frdvr : u W 22 3R 23 ), Frefafed foeedi 4 @ a2
13 S W T v < 18R 1 A T T e S
Hhdl :

22. ADMINISTRATION

(A) Minister (B) Station

(© Mind (D) Ration
23. CHARACTER

(A) Tracer (B) Hearty

(© Charter (D) Crate

24. If’a’ represents +, ‘b’ represents +,’c’ represents
— and ‘d’ represents X then 24a6d4b9¢8 = ?

A ‘a’ + BWAME, ‘b + B WAL o ~

T § 3R ‘ar x Y <wtar € 4
24a6d4b%c8 =7
(A)y17 (B 6 © 20 ®) 19

'25. . Some equations are solved on the basis of certain

system. Find out the correct answer for the unsolved
equation on that basis :

TS FHieHl fordt Sraeen & SR R ga frr T
34! YR R T 7 Fh 7T Tt 1 9 S I

EAELY
7X6%4 = 674, 8x5x3=583, 9x1x2=2
(A)y 292 (B) 462 © 727 D) 192

26. Inalanguage FIFTY is written as CACTY, CAR as
POL, TAR as TOL, how can TARIFF be written in
that language ?

fedt 991 § FIFTY 1 CACTY, CAR % POL, TAR
% TOL foren St €, @ TARIFF =1 39 a1 § $9

feran smam ?
(A) TOLADD (B) TOEFDD
(O TOEFEL (D) TOLACC

27.  Change symbol and solve accordingly to find out
correct answer from the alternatives given below :

= fag T fawmedt 1 9E I 9@ O & fow fag

1 9T 3R FeqER 39 g FR |
IX8X7 =24, 4X7x3=14, 2x1x9=?
(a) 11 B) 18 © 12 (O 10

SPACE FOR ROUGH WORK / 7% &Td & ford wig
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If GOODNESS is coded as HNPCODTR, how can
GREATNESS be written in that code ?

Ife GOODNESS %t HNPCODTR i€ # feran s
T & 36 wie ¥ GREATNESS #t %% foran siam ?
(A) HQFZSMFRT (B) HQFZUFRTM

(©) HQFZUODTR (D) HQFZUMFRT

Directions : In Question Nos. 29 to 31, select the missing
number from the given responses.

frdyr : w3 gEm 29 9 31 ¥, fou e fowedi § @ @ Iie

ECEFIELY
29. 8 12 14
6 |54] 7 8 [51] 4 5175
4 7 9
A) 71 ® 76 ©) 53 D) 68
30.
(Al
\%y/
(4) 19 B 24 © 12 D) 18
3L 9 6 ?
8 5 6
7 _4 3
6 _2% 3P
(A 9 ® 10 ©7 D) 8
32.

How many faces can you count in this
3 - dimensional model ?

6 3 - 3T Risd # foRed qETHa €72

(A) 16 ®) 14 © 18 D) 12

33.

34.

35.

36.

Which of the following states the relationship
between Socioclogy, Humanities and Psychology ?

frafafaa § @ - stfa TaeRTS, THfEwE
3R wfaeRt % 9 U9y & <9idl § 7

ReSIING

How many triangles are there in the following
square ?

Freferfaa ot 3 frad fogst ¥ 2
AN

N/

(A) 9

®) 11 © 6 O 7

Keeping his back towards the rising sun, Reshma
starts walking. After a few minutes, she turns left
and keeps on walking. Then a little later she turns
right and then left. In which direction is she going
at the moment ?

(A) North or South (B) South or West

(C) Eastor South (D) WestorNorth
3fea e g F SR T 98 e, W1 9l UE
* E 1 T e 91, 9% w1 9@ 9 € o et
WA 1 9 e T 9 I gw A § SR R
¢ oH I R | 39 o e few fem H W@ R?
(A) IR a1 2faor (B) aferor n wig=m

© vd = <fem (D) 9fvEm 41 I

From her home facing south - west, Kavita walks
15 m and turns northward and walks 12 m. How
far was she from her home, which was her starting
point ?

3T ¥R R gy w1 iR g@ w6k, Hfad 15m
Tofd! & 3R R ST AT AR TS 12 mF@dl 8 | 92
T TR, S 351 IRIF T o1, fohel gL &t ?
(A) 9m  (®) 15m (O 12m (D) 0m

SPACE FOR ROUGH WORK / T% 14 & fora smrg
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37.  Which venn diagram truly represents teachers,
scholars and students ?

FA-T1 97 s e, fagrl ot ol = |@@)

ThR Y T ® ?
©0 (|
(D)

(A) B (©)
38. Which figure best represents the relationship
between Editor, Newspaper and Journalist ?

FH G TF HUeH, THER I 3R HHR F o4
Hee ] Haifee gidl § 2

@ (G O (B)(%
0o OO0 o000

Directions : In question nos. 39 and 40 one or two statements
are given followed by two conclusions I and II. You have
to consider the statement to be true, even if it seems to be at
variance from commonly known facts. You are to decide
which of the given conclusions can definitely be drawn
from the given statement. Indicate your answer.

frdr : 9v9 g 39 3R 40 § s 91 < g9 fau U g,
forges ot 1 freand 1 &R 1ot T €1 31ven fa=R =
¥ T Joqen 9 § 91¢ 9% 9T=Ia: 9 ael Qs wdd
BRI S| 3Teh! Foig % § % feu e saa=m § 9 Si9-w
fafiaa v @ W Fropd fAshmen <1 ghar 1 379 I I

fafde s
39. Statements : (a) Some schools are
Laboratories.
(b) All Laboratories are
theatres.
Conclusions : () Some theatresare schools

No school is a theatre
{(A) conclusion (I) and (II) follows
(B) neither conclusion (I) nor (1) follows
() conclusion (1) follows
(D) conclusion () follows

qEaA (@) $D TR TARRIAT £
(b) | JHTIET FETWEAT 2 )
fremd () FS AN & ¢ |

(M) ¢ < el TEAMEN T § )
Ay frsmd (1) T (1) ST Fehera €1
® f=ed @ a8+ =78 Frevoran
© fr=d (1) Freraran 1
(D) fred (11) Feheran 21

40. Statement: Cactus plantsare fleshy but need least

water.
Conclusions: (I) Allfleshy plants are cacti.

(I) Cactus plants need least
water.

{A) Only (If) follows

(B) Both (I) and (IT) follow

(© Only () follows

(D) Neither (I} nor (II) follows

ECoe) el 1Y SR AR © Aled 3¢ wH
T Y STEYER] BT |
 fremd M | TRER WY Hw A ¥

) FFg qul w1 FH I FT
FATATIHA Bl ¢ |

(A) Fae fremd (1) Fedaar g1

®) T (1) ST () ST Pt ¥

Q) waa frsd (1) frearar 31

() Frswd (0 (1) 7 @ HE o Frewd 78 Fraeran

Directions : In question nos. 41 and 42, which answer figure
will complete the pattern in the question figure ?

frder : w1 FE 41 R4 ¥, #F 9 S fa I srfa
o Wia®T sl U FO0 2

41.  Question Figure/WyT 3TRfa

o

7
8
Answer Figures /3 aﬂ?ﬁ'ﬂf
=
) (8) ©) D

SPACE FOR ROUGH WORK / T&% &1d & o wnrg
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42,

43.

Question Figure /99 3"55{-}{ www.sakshiedu
Answer Figures /37T Wﬁ'ﬂf |

@?{F xéﬁ @ %’x

(A (B) © (D)

If a mirror is placed on the line MN, then which of
the answer figures is the right image of the given
figure ? '

IE TF 907 1 MN W@ R @ 99, @ & T ITW
STpfert & HF-4 S 9o SAepta it W vt
7t ?

Question Figure /W94 3T

Z s Z

Answer Figures /3T 3T fat

(A) (B) © D)

alan.comA circular sheet of paper is folded in a particular

45,

manner, punched once and then unfolded. Find
out the manner in which the paper was folded and
punched from amongst the answer figures.

e TR HUTS HT T 99 27 F =g 790 § o
e v o fofad #e gren @1 % | 3o st
SEF AT % W fF sw ansf A e dn 3
e fafea faran man €1

Question Figure/ W9 3R

Answer Figures /3T SITeRfaAt

) ®  © (D)

A piece of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when opened.

A g srEfrE § fea o wie # Aiew
HIEA AL WIS % 1G9 {9 I nepfa st feard
3m?

Question Figures /W9 Wﬁﬁﬁ'
N A A
Answer Figures /3t H@ﬁﬁﬁ"
O o] o] O (@]
000 o o o
o o o) o o
A) (B) ©) D)

SPACE FOR ROUGH WORK / T% ®H & e srg
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46.  Select the answer figure which is the same as the

question figure.
TE I MHTa T N wea smpfa & T9H T
Question Figure /W9 3TT&h{d
]
[ ]
]
Answer Figures/ 3T 3T&hfaat
l__[__l = .| 1
] { ] [y - [ )
— C | C
(A) (B) (©) (D)

47.  Which is the correct image if the picture is held in
front of a mirror ?

g ot 1 o1 & W T S A S9eR e ufafas
LRI
Question Figure/ ma@ﬁ

G

Answer Figures /30X H@ﬁfﬂf

(A) (® - © (D)

48. From the given answer figures, select the one in
which the question figure is hidden/embedded :

< S kel H 8 vw SR anF A 1 gy e
A e ffed R0
Question Figure /W9 3&fa
Answer Figures /37T Wﬁ'ﬁ
GV (B) ©) (D)

Directions : Question Nos. 49 and 50 A word is represented
by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two
matrices given below. The columns and rows of Matrix I
are numbered from 0 to4 and that of Matrix Il are numbered
from5t09. A letter from these matrices can be represented
first by its row and next by its column, e.g., ‘E’ can be
represented by 01, 13 etc,, and ‘L’ can be represented by 56,
77 etc. Similarly, you have to identify the set for the word
given in each question.

fder : W W 49 @R 50 TF W HIA UF WS- TR
B0 <9It mn §, St T fammedi o @ fordl we e
¥ ol § fou T He- wqE 31wl & < 9l gR geie Ty
%, St for = e e < onegdl | ¥ evege 1F we el
Ui T HEA 0W 4 TR M AR NF 5891 T
SEE | Tk &R A Yool sHeh! WA ofk 1% # @ wem
S0 <1 ST Fehdl €1, 3 F e, Bw 01, 13 0fE
I ST S WHAL $qA L B 56, 77 G G <A W
FHAT 1 FH WA AR g A e v F foaw ug w6
AR |

19, Matrix/ 38 - I Matrix/ 3T&5% - 11

oj1{2]3}4 506718109
olz|M[G|R]|C 5{X|K{T|E|S
iljlL|[Dp|[B{G 6lQlAlu[x]rP
2 |MIB|Cc|M|H 7iulv]|o|wlE
3|rRIL|N]|G]|1 s|TfY{alrlu
4| BID|M|R|] 9 |X|O|E|V]A
LANE

(A) 31, 66,33,97
© 11,67,32,97

(B) 11,66, 33,96
D) 31,87,32,97

50. Matrix/ 314g -1 Matrix/ 31E - 11

ol1]|2i3]4 ‘516|780
O/A|E|M{N|[P! |5  IT|L{R[S]T
1IN|P|AlE[|M 6 RIS|T|]IIL
2 E[M|N|P|A 7 T{I1{L|IRI|S
3IP|A|E|M|N 8 LIR|{S|T]|1I
4 | M|N|P|A|E 91s{T|{I|L|R
AIRS

(A) 43, 55,86, 9
(© 00, 68, 78, 88

(B) 24, 69, 56, 78
©) 12, 76,99, 78

SPACE FOR ROUGH WORK / T®% &1 & {3 wg
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52.

53.

54.
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-

PART -B / 9T - @
GENERAL KNOWLEDGE & GENERAL AWARENESS / HH JH Td WA SR

The forests which act as barriers against cyclones
are:

(A) Evergreenforests (B) Mangrove forests
(O Monsoon forests (D) Alpine forest

T & G A! o STIUH] B HE B & o T HiA-
Jg?

(A) TEU a1
© wEgI s

®) e =
(D) A T

Areversible and an irreversible engine are working

between the same limits of temperature. The

efficiency of :

(A) the reversible engine is greater than the
irreversible engine

(B) each engine is 100%

(©) thetwo engines are equal

(D) the irreversible engine is greater than the
reversible engine

TH IGHE IR T STehH o1 dHM i THH

sl & " wE R @

(A) SOHTT SO hi 2&T1 SIS §5T W S7fersh gt o

(B) Tk 9 T &I 100% BN |

(©) THI S5 I &A1 GHH B |

D) Wsﬁqaﬁammm@ﬁwﬁl

Name the Kingdom which first used elephants in
wars ? '

(A) Avanti (B) Champa

{O) Magadha (D) Kosala

39 T4 &1 TH Farse e 9eel 9R 43 3 gl
T fepan?
(&) srarit
() "

(B) {1
(D) I

. Which of the following is used in the treatment of

cancer ?
{A) Electrotherapy (B) Psychotherapy
(© Chemotherapy (D) Physiotherapy

FUT & I9er ¥ frefafga & 9 fege wam faa
g ?

INEESESDIRH (B) WIgHIETd
(© e (D) fwfsEE

JMS-2015/ Page$

55.

56.

57.

The most abundant elementis :

(A} Silicon (B) Calcium
(C©) Nitrogen (D) Oxygen
TR Y Ut ¥ e aen a@ 2

(A) fafasi (B) Hicwam
(© T (D) SRS

An electron microscope gives higher magnifications
than an optical microscope because :

(A) The electrons have more energy than the light
particles

{B) The electron microscope uses more powerful
lenses

{O) The wavelength of electrons is smaller as
compared to the wavelength of visible light

{D) Thevelocity of electrons is smaller than that of
light

TR FRweEl, weqy Heueel @ afys e i

ol @?

(A) TAFLH B YHE HON 9 i el B 7

(B) Folai ewewl § atfirch wifsrremet o= 1 wanT
fepan i B

(©) I HY TTCEA T Fohel oh qieed A FH
G :

(D) TAE T 3T FHT¥ % 97 W A Ll T

RAM is used as a short memory in a computer
because it :

{A) isveryexpensive

{B) is programmable

{C) isvolatile

(D) has less capacity

RAM o1 T et | i AH o foe feran siran g
FIfF

(A) % §gd HEM & T

(B) aE WrNfHT & 4FF A ¥

(©) ¥ TiadRie g ¥

(D) THN FH & At B
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Who among the following was named as “Haryana
Hurricane” ?

(A) Ajay Ratsa (B) Nawab Pataudi
(O Kapil Dev (D) Ajay Jadeja
fr=fafea = 9 =17 sfamn gem (sRaa) ' %
4 yfag ger?
(A) ST T
© wfae ey
The states reorganisation in 1956 created :
(A) 17 States and 6 Union Territories

(B) 17 States and 9 Union Territories

(C) 14 States and 6 Union Territories
(D) 15 States and 9 Union Territories

1956 # T4t 1 Triaq % @ |
(&) 17 T 3R 6 T9 o1 &5 o1
(B) 17 T 3R 9 99 T+ &= 73
(© 14 TF 31K 6 99 T &5 o7
D) 1577 3R 9 YUY T &5 57

(B) aTe Wt
(DRSPS

A low interest policy is also known as :
(A) investment policy

(B) income generating policy

(©) dear money policy

(D) cheap money policy

37T AT 1T i 3 1 Fed €2

(A) a9 ifa

B) 37 giq g

(© mEM ge1 Hifa

(D) wT ge ifd

The resources which are obtained from biosphere
and have life are :

{A) Renewableresources (B} Potential resources
(O Biotic resources (D) . Abiotic resources

Y Hew | e 3R TR Hiw $9-4 § fr e g
27

(A) TR i (B) 9 €[

(© e &g D) Iifae |

In a solar or lunar eclipse, the region of earth’s
shadow is divided into :

(A) Four parts (B) Fiveparts

(© Two parts (D) Three parts

g4 a1 < T 4, gest i v fhe o fasfg
= Sl 2
(A) I 9
@ < v

B) u= 9m
(D) T A

JMS-2015/ Page9
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Tulsidas wrote Ramacharitamans during the reign
of :

(A) Akbar (B) Krishnadeva Raya
(O Jahangir (D) Rama Raya
GO J W RaIEE e W e § et ?

(A) ST (B) FUEE T
Q) i (D) T

What does the word “amphibian’ mean?
(A) Twolives (B) Four lives

(© Threelives (D) Onelife
TR TIeg F 1 F R 2

(a) T sa (B) =R S
© @ S (D) TH

Reservation for the Scheduled Castes and Scheduled
tribes inthe Service has been provided in the Indian
Constitution under :

(A) Article 365 (B) Article 375

(C) Article 315 (D) Article 335
AT Wi & foa siqssg § arqgfaa sifaat ot
TR ST o fore sTRern st wresm fiwar T
2?7

(A) TTTE365
© TR 315

(B) STH=WR375
(D) =g 335

Government of India has decided to integrate
with recent launched Pradhan Mantri
Krishi Sinchayee Yojana.

(A) Accelerated Irrigation Benefit Programme
(B) Haryali
(O} National Rural Livlihood Mission

(D) Mahatma Gandhi National Rural Employment
Guarantee Act

G TR 3 B H O &1 T guE o i foen
IS 6 WY (58 Thiga w0 &1 fivra faan 2

(A) fta fa=r eny s1fww

GERISI

Q) T i gt fiygm

(D) HRETCHT el T oy TR MRS arfufyy
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The largest current, because of its dark waters is
known as<he “black current” and that is :

(A) California current (B) Antarctic current
(O Gulfstream (D) Kuroshio current
I $H- T 7w ¥ Y ow w@ wh ¥
FTT A g o et S d 2

(A) St awg (B) 3ierhfes® um

© T € D) T U

The founder of the ‘Arya Samaj was :
(A} Dayananda Saraswati

(B) Raja Ram Mohan Roy

(G Vivekananda

(D) Annie Besant

o TS % e w92

(A) <IHTE T

(B) T U Higd TH

©Q framrc

O) T A

Nitrogen in water is commonly found in the form
of :

(A) Nitric oxide (B) Nitrous oxide

(O Nitrate (D) Nitrite
It H AR FAHAR W e w9 F 9wt €2
(&) g sTFTES (B) TEZH AL
© TEE (D) TR

The Members of the Constituent Assembly which
enacted the constitution of India were :

(A) Nominated by Governor-General
(B) Nominated by the Political Parties

(©) Elected by the Legislative Assemblies of various
Provinces

(D) Directly elected by the People

o dfaum 591 570 e & wigum & aifufam
foran T, Sk TR B 92

(A) TER SRS gRI T

(B) TsHIfge <&l gRy MifHa

(© Tafsr= widi =1 favm gt gro faffaa

(D) <l gr §d it

JMS-2015/Pagel0
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To whom the President has to submit his
resignation ?

(A) Speaker {B) Chief Justice

(© Prime Minister (D} Vice President
TSZld 1 ST @ I fH Y Ted e e 2

(A) THTT e (B) H=A =Ty

(© gur i (D) 39 TYld

The total number of planets revolving around the
sun are :

(A) Seven (B) Eight

(© Five (D) Six

T % WRI S T A TE F et we e 32
(&) W ® @

© i ©) B:

Immunization technique was developed by :
(A) Louis Pasteur (B) RobertKoch
(©) Joseph Lister (D) Edward Jenner

GTARET0T FerTen 1 faehT forgm e o ?
(A) U I (B) Ta<®™
(C) HE fae D) TEFE AR

Which one of the following chapters in the Indian
Constitution guarantees fundamental rights to the
people ?

(A) PartIll (B) Partlv

(© Partl (D) Partll

WG Sfaym & frefafea § 9 f69 sram § s
1 M e srfuer feg T ¥

(A) SR (B) STIV

Q) Wl (D) 9III

The market equilibrium for a commodity is

determined by :

(A) the balancing of the forces of demand and
supply for the commodity

(B) the intervention of the Government

(©) themarket demand of the commodity

(D) the market supply of the commodity

feelt % =1 eI Hqes fored fruffia frarsman 22
(A) % T A SR AR i wifoadt 0 wger
(B) HTHR T T&T

(© I I =R i

(D) T H TR A
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“Economies” of a firm are :

(A) anincrease in its profits

(B) its dominance of the market

(O saving inits production costs

(D) areduction in its selling expenses

et v & ‘gema e E 7
(A) &9 ¥ gfg

(B) TSR &1 Y

© SR A | T9d
REEIRER T

The hydrophilic nature of DNA is due to the
presence of :

(A) anumber of hydrogenbonds

(B) phosphate group
(Q deoxyribose sugar

(D) thymine base }

DNA 1 Sl T forgent st & R g
22

(A) fafr= eRgem ay

(B) HITHE T

© fesrreriifEma s

(D) 9= a9

Ina computer system, which device is functionally
opposite of a keyboard ?

(A} Joystick (B) Trackball
(© Mouse (D) Printer

Fg faeen H HE-H gfoa Sisls o forda (emfe)
Fd Fdt &2
(A) SafEs
© w=d

®) = da
©) fix

The sense of balance is achieved by :
(A) Cerebellum equilibrium

(B) Thalamus equilibrium

(C) Cerebrum equilibrium

(D) Spinal cord equilibrium

TEeH St ST fored At 8 2
(A) STITETHIT e

B) dwg wEer

(© iR dgeq

(D) HEGY e

JMS-2015/ Pagell
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Aluminium salt commonly used to stop bleeding
1$:

(A) Aluminiumchloride (B) Aluminium nitrate
(O Aluminiumsulphate (D) Potashalum

THEE 1 Y & A0 R W R Tegfafam
SERETR R ER e o -

(A) Tfafem FiREe (@) Tt e
© TfEfEmEche () deri

Cripps Mission came to India in :

fopem fasm g § &e s ?

(A) 1945  (B) 1946 (O) 1940 (D) 1942

Who among the following Sultans tried to prohibit
Sati ?

(A) Muhammad Bin Tuglaq

(B) Firoz Tuglaq

(© Jalaluddin Khilji

(D) AlauddinKhilji

frefafea 7 9 fra geam 5 odl gon 399 1 @
fehan 2

(A) Hewg fod gerh

(®) TRl e

(O g faes

(D) e fawsh

Total internal reflection cannot take place when light
goes from:

(A) water to glass

(B) water toair

(O glass to air

(D) glass to water

EEIRNIN

(A) T TR Hiw H @R
B) I ¥ S an] F 1§ |
(©) i< | TR a1 | el §
(D) i ¥ gt I F e 7 )

Who constructed Humayun’s Tomb in Delhi ?

(A) Haji Begam (B) Babar
(© Humayun (D) Akbar
fowell f gAR] =1 geher farer samn 2
(A) =T ST (HMCICH

© O) ¥R
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Who ameng the following Mughal rulers banned
music and dancing ?

(A) Jahangir (B) Babar

(© Aurangzeb (D) Humayun
fr=tferfia 9 | fora gma wwes A Wi 3R g8
Tfase o o ?

(A) SRR (B) IR

© R D) T

Which of the following is the major copper
producing country ?

(A) Indonesia (B) Russia

(C} SriLanka (D) Chile

Frfated § 9 S1H-W 39 767 qien Scaiesh on § 2
(4) EESHfRE () *4

© Hicisht ©) faei

Interferons are synthesized in response to :

(A) mycoplasma (B) fungi

© virus (D} bacteria

TR At arqfera o fvers 29 €2

(A) SIS (B) o

(© ooy (D) e

Who was the governor-general during the Second
Anglo-Mysore War ? '

(A) Lord Wellesley (B) SirJohnShore

(C) Lord Cornwallis (D) Warren Hastings

T Urel- B g | TIAL ST DI o7 2
(A) @E aeraa (B). FHUSA YR
(€ @I wmHarad D) 717 gfedTa

The firstlaw of thermodynamics is simply the case
of :

(A) Charle’s law

(B) thelaw of conservation of energy
(C) thelaw of heat exchange

(D) Newton’s law of cooling

AqrfaeRt 1 gew e e R geg amen
§?

(A) =™ g

(B) 1 % HX&W % fram

© o fafma & frm

(D) g3 % wiiqer fram

IMS-2015/Pagel2
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Mac Iver says ‘kinship creates society and society at
length creates ’

(A) Association (B) City State
(© Nation (D) State

AfehaR Faa § - ‘Sy-Fya § IO A 7 A

fqd; oS |/ ERGIEA
(A) Heq (B) TR
O 1% ) =

Red rot of sugarcane is caused by :
(A) Colletotrichum falcatum

(By Cercospora personata

(© Alternaria alternata

(D) Phylophthora Infestans

T 1 AT TSy e SR awd 372
(A) Ty bomey

(B) THIGR T

(Q sTeerIRET sticeTiz

(D) FEEARIN FHET

Regarding money supply situation in India it can
be said that the :

(A) Currency with the public is almost equal to the
" deposits with the banks.

(B) Currency with the public is inconvertible only.

(O Currency with the public is more than the
deposits with the banks.

(D) Currency with the public is less than the
deposits with the banks.

IR & qg1 3mgfd i feorfa & ey F wa s wwa E
E

(A) ST o U9 G2 A1 H FH F S ¥y

(B) A1 Wrq Hg1 kad fafig ¥

(© @ F I 1 Fh1 H o g w8y

(D) AT F 9 G dohi § 99 H 9 B

A clone is a group of individuals obtained through:
(A) self pollination (B) micropropagation
(O hybridisation (D) cross pollination

Fsh (FAH) fHa8 ya SAfEal F1 e ¥ 2
(A) & W (B) GemwaHA
Q) dHdHm (D) TH{-9I0]
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Chemical name of Gammaxane is :
(A} Aniline (B Toluene
() Benzene hexachloride (D) Chloro benzene

e &1 Tt Tm a2 g ?
(A) TfFer (B) e
(C) FH ZEENEE (D) IR AN

The equilibrium price of acommodity will definitely

rise if thereisa/an:

(A) increase in supply combined with a decrease
in demand

(B) increase in demand accompanied by a decrease
n supply

(G decrease inboth demand and supply

(D) increase in both demand and supply

ot a7 % Tqe qoo § Ffvea w9 4 gfg %9 2
®7

(A) T H I F we-wy ofd # gfg F ¥
@) g § w9 F - win ¥ gfg @t R
(© 59 T SR g A e A €

() 3 1 3w argid < § gfg D R

The fleshy thalamus is edible in :

(A) Mango (B) Orange
(C) Tomato D) Apple
TR dord fRed T dra g €2
(A) 314 (B) FW
O T )&

The largest forest which covers 25 percent of the
world’s Forest land is :

{A) Monsoon Forest

(B) Temperateforests of Europe

(O) The tropical Rain forest

(D) Taiga forest of Siberia

fava #1 25 vfaw 99 9f9 *i Ir=BIed A =T
T T T FA-A 2

(A) HIHA

(B) AT < Tarool e o

(© I HieaH qul a7

(L) aEafE w T

IMS-2015/Pagel3
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Name the acid attack victim who was honoured with
prestigious “International women of courage”
award on 4 march 2014 at the state department
ceremony in Washington by Michelle Obama, first
lady of the U.S.:

{A) Malini (B) Shivani

(©) Nirbhaya (D} Laxmi

Tfgg orew 1 difgar &1 A a9 s
Ser Aiwel fagier sismen g anfvired ® 4 v 2014
& ARG T faum 9anE ¥ gfdficd R
" g A dieen’’ | genta fEan o ?

(A) et (8) feramt

(Q fasfan @) et

If the Union Parliament is to assume legislative
power over and subject included in the State List,
the resolution to the effect has to be passed by which
of the following?

(A) Lok Sabha, Rajya Sabhaand legislatures of the
Concerned States

(B) Both Lok Sabha and Rajva Sabha

(C©) 1.okSabha

(D) Rajya Sabha

afe $Em TEE = T g v e vt

SR fawdll =1 WET FHIA B A T AW B T

[EREZ-GURIECRE RIS

(A) @F B, TF T IR Hefyg o= & faum
qedd

(B) Tk | 3R T 91 TR
(© < |
D) T |

Which Article of the Indian Constitution defines the
duties of the Chief Minister ? ;

(A) Article 164 (B) Article 166

Q) Article 167 (D) Article 163

R dfqur & 9 oo § g8 13l & i) 6l
afvunfoa ferar o 82
(A) =T 164

(© ITT167

(B) 3TT=T 166
(D) IT=8 163
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- PART-C / 4T - 7
QUANTITATIVE APTITUDE / §&T™da ifusfa
2km5misequalto: 105. Thesimplified value of
2km 5 m Fre¥F st 2? (0.0539 — 0.002) X 0.4+ 0.56 X 0.07
is:
(A) 2.005km (B) 2.0005km 0.04 > 0.25
© 25km D) 2.05km (0.0539 — 0.002) X 0.4 + 0.56 X 0.07
004 x 025 R

. ?
A trader marks his goods 20% above C.P. but allows LERLAE
his customers a discount of 10%. The C.P. of a (A) 59.96 (B) 599.6
blackboard, which is sold for 216, is ; © 0.599% (D) 5.996
T forshdl 37T HIe T AT o | 20% ST geg
3ifhd FT & AfH 319 UEh] F1 10%aﬁggzém%| 106. The height of a triangle is increased by 10%. To

=AFaIS &1 AN Hed F1 2 3518 T 216 § =1 T
??

(A) 200
© %108

(B) %180
©) T1%

A bus moving at 40 km per hour covers a distance in
6 hours 15 minutes. If it travels the same distance at
50 km per hour how long will it take to cover the
distance ?

40 T 1. 9fd Har 1 7fd | I =1el 59 6 6
15 e § ¢ @@ %3t © 1 afk @ 50 fo . wfa Hen
M ATH I @ AR AW R TaHA A
39 foRa wra & ?

(A) 6hours/ i (B) 2hours/®<

(C) 4hours/e (D) 5hours/ He

If a shopkeeper purchases cashewnut at ¥ 250
per kg and sells.it at ¥ 10 per 50 grams, then he will
have:

AfE T GHMRR 2 250 Uft foha. ot 1 A o] Tliea
Rz so T AR RA TSI R

AT I &M 2
(A) 25% profit/&m (B) 20% profit/dT™

(C) 20% loss/®IA (D) 25% loss/ B

107.

108.

retain the original area of the triangle, its
corresponding base mustbe decreased by :

T P &1 59E 10% 991 § 9t 31 B w1 q@
SAFE FTY @ o [T ST aegedt 3MuR fiFam
FH HET G 2

1 1
9=% =9
@) 9% ®) 9%

© 10% ©) 9%

1
The mean of x and " is M. Then the mean of x2 and

nV

L oar® g
’.7

1 . -
— 18 :
X2 nA

3 L aramm M x2aﬂ1i2 & AT T ?
X

(B) M2-2
D) 2M2-1

(a) M2
© 4M2-2

In a factory, the production of cycles rose to 48,400
from 40,000 in 2 years. The rate of growth per annum
is

T el W, gufea w1 fmion 2 39 § 40,000 |
AGHL 48,400 T ATt Higad gfg FT T 2
(A) 8% B) 9% © 105% (D) 10%

SPACE FOR ROUGH WORK / T% @18 & &% smie
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A man bought a watch at 25% discount on the
original price. He got ¥ 40 more than the original
price by selling it at 140% of the price at which he
bought. The price of buying the watch was :

TF STEHT 3 & 190 W 25% B T UF & G|
3E 59 F1Hd R € TR IHF 140% T S A=y
WS E w0 W T 40 Tk et 1w mley w
HIFT HT Y ?

(A) T 900 B) T 600

© %800 ©) %700

How many seconds will a train 120 metres long
running at the rate of 36 km/hr take to cross a bridge
of 360 metres in length ?

36 Rt/ wiet 1 71fd | e At 120 HeX St temet
I 360 HeX TH T H1 IR H3 F FFad g i 2

(A) 48 sec/H. (B) 36 sec/H.

(©) 40 sec/q. (D) 46 sec/R.

Incomes of x and y are in the ratio 4 : 3. Their
expenditures are in the ratio 12 : 7. Both save
3200 at the end of the month, then the income of x
is

Ay ML 3F U § 3| AW =T 127 F

arqr # ¥1 I € wER % ofa F € 3200 YS9
Fd B, A1 x A I ferat 82

(A) T 6000 (B) %8000

© %2000 (D) % 4000

12 monkeys can eat 12 bananas in 12 minutes. In
how many minutes can 4 monkeys eat 4 bananas ?

12812 1209 & & od &1 49T 439
faa fa7e § wrawa 82

w12 ®1 Q4 ®) 8

113.

114.

115.

116.

117.

A certain amount of money earns ¥ 540 as Simple
Interest in 3 years. If it earns a Compound Interest
0f ¥ 376.20 at the same rate of interest in 2 years, find
the amount. (in rupees)

Tl o7Uf W W W ¥ v A 399 o
X540 Hed 1 afg 2o § 3o & =9 W
% 376.20 %1 Fehgfg o et o uf (vwdi &) 9@
EHELE ‘
(A) 2100 D) 2000

B) 1600 (C) 1800

The average of some natural numbers is 15, If 30 is
added to first number and 5 is subtracted from the
last number the average becomes 17.5 then the
number of natural number is :

FT WFHd Tl F AM1581  afc Teet 9= o
30 SiTg fear sy 3R sifem dem @ 5w faa s
3 17.5 AR | O et 51 T e £
(A) 20 ®) 30 © 15 D) 10

The smallest whole number that is to be multiplied
with 59535 to make a perfect square number is x.
The sum of digits of x is :

T8 eTerem qof S w1 59535 A o HE W g
A T § TR TR 2 ¥ x % ST H AT TR

) 9 (B) 6 Q5 D) 7

The ratio of the ages of A and B at present is
3:1. Four years earlier the ratio was 4 : 1. The
presentage of Ais:

A H A SR BT 3T 1 ST 3:1%1 IR s g
AT 4:1 911 A FT TIHM o11g Feraft &7

(A) 40 years/Jd (B) 32years/Td

(O 36years/=d (D) 48years/TH

\/10+ V25 + 108 + V154 + V25 .
38 o

1
A 8 ® 5 © 2 D) 4

SPACE FOR ROUGH WORK / % &1 & ford g
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If 32X7Y = 35 = /27, then the value of 37V
willbe:

afg 3257V = 3 = 27, @ 3oy AR
am?

1 1
& 5 ® 7
© 3 D 3

A number is increased by x%, to get back to the
original number, it is to be reduced by :

T AT 6 x%, TEE A ¢; I99 Jel & o1 5
foe 39 feret w2 2 2

10x_,, 100x
) 00+ « ® T00+ «
x 0,
OD o
© x% ®) To0+ «

A fruit seller buys 240 apples for T 600. Some of
these apples are bad and are thrown away. He sells
the remaining apples at ¥ 3.50 each and makes a
profit of T198. The % of apples thrown away are

TE el It 2600 H 240 99 WOGA 81 3TH 4 FD
¥ @ § IR B ey 9w ¥ ww 9fa ¥3.50 &
fewre @ 9 A9 9= a1 § 31R T 198 T @I HAAI © |
% 1T Yl 1 wiavE FE?

(A) 8% ® 7% (©) 6% ©) 5%

20 men can do a piece of work in 18 days. They
worked together for3 days, then 5 men joined them.
In how many more days is the work completed ?

20 3T TF FW H 18 a7 B+ Tad T IR
3 T fieret F9 T, 39 918 5 SAEHT 376 919
e € 1w fHE o  qu & S 2

A) 12 ®) 14 © 15 ©) 13

Study the bar graph and answer Q.No. 122 to 125.
IR AF F1 AT Hifwq 3R T . 122 ¥ 125 FT SW

HisLS

E= Quantity in lakh sugar bags/® I < % o 9l o
ll Value in crores rupees /T4 g T H

500
330
260
200
150 150 150
12

ol X 0 Y
g

000 . 2001

1996 1997 1998 1999 2

Years/d

122. The approximate percentage increase in quantity

from 1997 to 1998 was :
1997 & 1998 Tk AT § g 1 AFAMAA yfaerd fovan
qr?
(A) 27.3% ®B) 27.8%
(© 265% D) 26.9%
123. Percentage fall in value from 2000 to 2001 in:
20008 2001 ¥ o H 372 HH 1 Waw feaT 82
(A) 50% (B) 75% < 25% (D) 40%
124. The difference between the bags exported in 1999
and 2000 was :
1999 3iR 2000 ¥ frafa foHe Te AT < st faran st
a1?
(A) 50,000,00 (B) 1,00,000,00
(© 1,50,000,00 (D) 2,00,000,00
125. Value per bag was minimum in the year :
wfa 1 Ao fora o =AeH a2
(A) 2001  (B) 1999 (© 1996 (D) 1997
126. A man was born in the year 1896 A.D. If in the year

x2 A.D. his age is x — 4, the value of x is:

T EH 1 9 99 1896 3. H gaNt A =
2% IR M x—4 M, AxFTAF FL?

(A) 44 ®) 36 © 42 D) 40

SPACE FOR ROUGH WORK / T% %14 & & e
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The total surface area of a regular triangular
pyramid with each edges of length 1 cm s :

i 19,1, w8 ol ot Frafira fareirr e 7
ST TAT AR feha 1 2o ?

(A) V3 sq.com/a AL
(B) g\/g sq. cm/ 3 9.

© ;4 sq. cm/ 1 @T-ﬁ
D) 4V3 sq.cm/a QA

The perimeter of a sheet of paper in the shape of a
quadrant of a circle is 75 cm, Its area would be

-2
-3)
Th 96 & FqUV F @R § FEw w9y
75cm€1 SHEH WWW?(#=%%)

(A) 3465 cm?
© 693 cm?

(B) 100 cm?
(D) 512.25 cm?

If in a triangle ABC, BE and CF are two medians
perpendicular to each other and if AB=19 cm and
AC=22 cmthen the length of BCis:

gfg Fiss ABC #, BE 3R CF T @ & Tveeq of

- wiferet TE € 8l 918 AB=19 cm a9 AC=22 cm

@ BC ! o foret & 2
(A) 20.5cm (B) 19:5¢cm
O 13cm D) 26 cm

The shadow of a tower standing on a level plane is
found to be 40 mlonger when the sun’s altitude is
45° than when it is 60°. The height of the tower is :

FHAS SR W ES TR T TSR T &1 Farg 60°
ﬁmﬂ@%ﬁmwmaﬁm% IR HY AR

EGIEL
(&) 303+ V3)m (B) 403 + V3) m

© 103+ V3)m (D) 203+ V3)m

131.

132.

133.

134,

135.

136.

O is the circumcentre of AABC. If ZBAC =50° then
ZOBCis:

O AABC &1 UR&=E 81 A LBAC=50°d1 LOBC
fohaT1 2 ?
(A) 130°  (B) 100°

© 500 D) 40

If a is an acute angle and 2sina + 15c082q = 7, then
the value of cota is :

¢ o TH =T H0 T AN 2sina+15c0s2a=7, A
coto T T 41 BT ?

5

4 4 3
@w3 B3 Q3 OF

If the base of right prism remains same and the
measures of the lateral edges are halved, then its
volume will be reduced by :

e o9 fon &1 3UR a1 € @ iR uied s &5
Y 341 F 1A S 6 SHHT 319 fHa1 5 8
M ?

(A) 50%
© 66%

®) 25%
D) 33.33%

If sinf + sin26 = 1, then the value of cos28 + cos8 is :
Tl sind +sin20 = 1, A cos20 + cos* 1 A 1 & ?
A) 2 (B) 0 1 O -1

I 999x +888y=1332
888x + 999y =555

then the value of x+ yis:

Ifq 999x + 888y =1332
888x + 999y =555

A x+y T A 1 2 2

(A) 888 - (B) 1 © 999 (D) 555

The term that should be added to (4x2 + 8x) so that
resulting expression be a perfect square is :

(4x2+ 8x) § HF-T WE W Wiy T gftomdt o
Gefa qoi a7 o= 9 2
(A) 4 ® 1

©2x ©:2

~ SPACE FOR ROUGH WORK / TF &Td & fad Wg
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137.

138.

139.

140.

141.
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Twocircles of Fadii 10 cm and 8 cm intersect and the
length of the common chord is 12 cm. Then the
distance between their centres is

10 cm 38 e B9 91t @ 99 WER 3a: 12 &l
%’Wmmaﬁmncm?ﬁmﬁi
e ) g0 e it 2
(A) 15cm
€ 8cm

(B) 10cm
D) 133 cm

The angle between the graph of the linear equation
239x — 239+ 5=0 and the x-axis is :

Ygs THF 239 ~ 239y +5=0 A x-8 F W
F & w9 fHa s F Tm?

(A) 45° (B) 60° © (D) 30°

Provided sin(A — B) = sinA cosB — cosA sinB, sin15°
willbe:

7d sin(A — B) = sinA cosB — cosA sinB, A sin15° P

g ?

V3 -1 V3 -1
A —7 ® 575
N3 V341
© 575 D) Wi

: 7
fy+ L =2 thenthevalueof ¥ *

5 IS
X x5

7 1
Myt Lo @Y +x—5mmwg‘m?
x N

w2 ®22 92 O

The number of paving stones each measuring
2.5m X 2 m required to pave arectangular courtyard
30 m long and 17.5 m wide, are :

30 ™. & 3R 17.5 H. 9IS AR Wavl H Teel
foem & fay 25 W x2 9. a9 ¥F fHa st g
T SETIRA T ?
(A) 99 (B) 105

© 33 (@ 80

142,

143.

144.

From two points on the ground and lying on a
straight line through the foot of a pillar, the two
angles of elevation of the top of the pillar are
complementary to each other. If the distances of the
two points from the foot of the pillar are 12 metres
and 27 metres and the two points lie on the same
side of the pillar, then the height (in metres) of the
pillar is : »

T W o G F U ¥ I S W W R 9
foigai @, 9 & v F 797 o7 TH O TE T
afe TR F U @ g fagei gl 12 Het sk
27 HieX § 31K Al fog T9 1 a0 YR ved ¥ @t
Y w dag (Hie #) fwad goit?

(A) 16 ®) 12

© 15 D) 18

The diagonal of a quadrilateral shaped field is 24 m
and the perpendiculars dropped on it from the
remaining opposite vertices are 8 m and 13 m. The
area of the field is :

Fw TER F %ﬁﬁﬁﬁﬁ%m%sﬁtmw
?ﬁ'ﬁﬁ@mmm&n&ﬁ{mm%l mm@s{w
R &2

(A) 252 m? (B 1152 m2

© 96m? (D) 156 m?

Two isosceles triangles have equal vertical angles
and their areas are in the ratio 9:16. Then the ratio
of their corresponding heights is :

R gufges st % ofid Fror srrer § 3i 37 fawa

9:16F I ¥ ¢, ﬁmmﬁﬁiﬁim
1 g ?
(A) 45:8 (®B) 8:45

(C)'3:4 D) 4:3

SPACE FOR ROUGH WORK / 1% &1d & foa g
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145. The perlmeters of two similar triangles are
30 cm and 20 cm respectively. If one side of the first
triangle is 9 cm. Determine the corresponding side
of the second triangle :

ﬁwﬁg&ﬁaﬂwﬁmqm: 30 cm 320 cm R
e e B H T 9 em ¥ A G o A
TEIEIT Y[ FE FC |

(A) 15cm
© 6cm

(B) 5cm
D) 13.5cm

The expenses of a country for a partxcular year is given in
the pie chart. Read the pie chart and answer question
no. 146 to 150.

ﬁmﬁﬁﬁ%ﬂ%aﬁﬁﬁw%mmm%l -4
mamaﬁﬁm 3 999 . 146 9 150 F 3¢ Sfw

Education/ f¥1an
-10%
 State _Sports/
development/ o
T fasm 187

Others/ 314
30%

Non plan/?ﬁﬁﬁﬂ’(
36°

146. If the total amount spent by Government during the

year was % 3,00,000 crores, the amount spent on state
development exceeds that on sports by :

I TR g o F W & e Tl T 3,00,000
Fg o, A T frga | # T 9f gell W
T it U | et sifues St &2

(A) - 25,000 crores/ 1%
(Bj 45,000 crores/ HS
(© 35,000 crores/FUS
(D) 30,000 crores/sHUg

147. The percent of less money spént on non plan than
that on defence is:

eqt ! AT H AR v H fera wfded w9 af
wd #ME? '

A) 12% @ 15% (O 5% D) 10%

148. The percent of more money spent on others than
that on sports is :
Tl Ht o § o1 o7 v § feher whawm arfures
ufer = &t 82
(A) 26% B) 25% © 28% Dy 27%
149. If the total amount spent by the Government during
' the year was ¥1,00,000 crores, then the amount spent
on health and education together was :
- Ife R g oY § wd &1 W et ¥ 21,00,000
g ff, 9 @R iR fen w firees w0 faa
Ut @d w2
(A) Z25,000 crores/Fg
(B) 30,000 crores/%Ug
(O T 15,000 crores/FHUS
(D) 20,000 crores/ =k I‘ig‘
150. The percent of the total spending that is spent on
health s :
wWRed W FA fovaq yiawa afer e #1722
(A) 25%  (B) 30% (O 15% (D) 20%

- SPACE FOR ROUGH WORK / T®& &1 & & smg
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- PART - D
ENGLISH COMPREHENSION

Directions : In Questions No. 151 to 155, some part of the
sentences have errors and some are correct. Find out which
part of a sentence has an error and blacken the circle [ @]
corresponding to the appropriate letter (A, B, C). If a
sentence is free from error, blacken the circle corresponding
to (D) in the Answer Sheet.

151. The team was/now in the field and/

A) (B)
about to take their place./ No error
© (D)

152. Everyone werehappy/ to hear/

(A) ®

about his success./ No error

© D)

[he lions/  kill the animals/and eat his meat./
(A) (B) ©

Noerror
(D)

153.

154. Hearing these sirange noises above,/
(A)

the thought at once occurred to me/
(B)

that thieves had entered the house./No error

© | D)

Our beloved Prime - Minister/is known to/

(A) (B)

the prominent figures all over the world./

©

155.

Noerror

(D).

Directions : In Questions No. 156 to 160 sentences given
with blanks are to be filled in with an appropriate

~ word (s). Four alternatives are suggested for each question.
Choose the correct alternative out of the four and indicate
it by blackening the appropriate circle [ @ ] in the Answer
Sheet.

156. There were so many
speech that the audience
message.

points in his
to get the

(A) superficial -  listened
(B) relevant - hastened
(O interesting -  tried
(D) irrelevant -  failed

JMS-2015/Page20

157. The little boy ran fast that he was

for breath.
(A) so - gasping
(B) too - fighting
(©) so - inhaling
(D) very-  struggling
158. He was so at his job that he was asked
togivea to the visitors.
(A) adept - demonstration
(B) able - disclosure
O agile - demolition
(D) accurate - _display
159. She was so that she was
by all.
(A) proud:respected
(B) .excellent: warned
(©) talented : praised
D) stupid:admifed
160. The of the ‘chief’ was upon
him.

(A) title, bestowed

(B} name, dismissed

(©) title, imposed

(D) appointment, thrown

Directions : In Questions No. 161 to 165 out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet.

161. Annihilate

{(A) initiate (B) destroy

(© solve (D) deduce
162. Quarry

(A) quest (B) denounce

(O victim (D) quake
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163. Interference Directions : In Questions No. 171 to 175, four alternatives
A) honour deference are given for the Idiom/Phrase underlined in the sentence.
) ® ne Choose the alternative which best expresses the meaning

(© obstruction (D) fearful of the Idiom/Phrase and mark it in the Answer Sheet.

164. Verisimilitude 171. The shopping mall is a beehive of activity.

(A) festive (B) fantastic

(A) asecure place (B) asweet place
(© grotesque (D) authenticity

(© abusy place (D) acostly place

165. Conjecture
(A) knowledge (B) guess 172. To win laurels.
© truth (D) bias (A) To be disappointed
(B) Tomemorise

Directions : In Questions No. 166 to 170, choose the word

o ; (O Tobe victorious ina game
opposite in meaning to the given word and mark it in the

Answer Sheet. (D) To earn great prestige
166.  Unscrupulous 173. Theofficer was in the soup when there was a raid in
(A) Single-minded (B) Superfluous - his office.
(O Dedicated (D) Conscientious (A) preparing soup
(B) distributing soup
167. Tranquil (O tobeintrouble
(A) Perpetual (B) Temporal (D) drinking soup

(© Unruffled (D) Disturbed

174. We must draw the line somewhere.
168. Enlarge

(A) amplify (B), glorify
(O condense (D) augment

(A) turnthe tables
(B) put the screw on
(O fixalimit

‘ aim at the sky
169. Obsequious ®) i

(A) domineering (B) clever
(© opaque D) careful 175. Tocut the Gordian knot.
(A) todoajob perfunctorily
170. Vacillate (B) tocuta piece of cloth
(A} injure (B) relieve (©) toperform an easy task
(O decide (D) repel (D) to perform a difficult task

TMS-2015/Page21
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163. Interference
{A) honour

(C) obstruction

164. Verisimilitude
(A) festive

(© grotesque

165. Conjecture
(A) knowledge
(O truth

(B)

®)
)

(B)
©)

www.sakshieducation.com

deference

fearful

fantastic

authenticity

guess
bias

Directions : In Questions No. 166 to 170, chcose the word
opposite in meaning to the given word and mark it in the

Answer Sheet.

166. Unscrupulous

(A) Single-minded (B)

(O Dedicated

167. Tranquil
(A) Perpetual

(©) Unruffled

168. Enlarge
(A) amplify

(O condense

169. Obsequious
(A) domineering

(© opaque

170. Vacillate
{(A) injure
(© decide

JMS-2015/ Page21

©)

(B)
©)

D)

(B)
D)

(B)
D)

Superfluous

Conscientious

Temporal

Disturbed

glorify

augment

clever

careful

relieve

repel

Directions: In Questions No. 171 to 175, four alternatives
are given for the Idiom/Phrase underlined in the sentence.
Choose the alternative which best expresses the meaning
of the Idiom/Phrase and mark it in the Answer Sheet.

171.

172.

173.

174.

175.

The shopping mall is a beehive of activity.
(A) asecure place (B) asweet place
({© abusy place (D) acostly place
To win laurels.

(A) Tobedisappointed

(B) Tomemorise

(© Tobe victorious ina game

(D) Toearn great prestige

The officer was in the soup when there was a raid in
his office.

(A) preparing soup
(B) distributing soup
(@ tobeintrouble

(D) drinking soup

We must draw the line somewhere.
(A) turnthe tables

(B) putthe screw on

(O fix alimit

(D) aim at the sky

To cut the Gordian knot.

(A} todoajob perfunctorily
(B) to cuta piece of cloth
(O) toperformaneasy task

(D) to perform a difficult task
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Directions : In Questions No. 176 to 180, a part of the
* sentence is underlined. Below are given alternatives to the
underlined part at (A), (B), (C) which may improve the
sentence. Choose the correct alternative. In case no
improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

176. She is very eccentric woman.
(A) unusual

(B) impatient

(© generous

(D) noimprovement

177. been

The workers should have

meticulous.

more

(A) precise

(B) punctual

(C) committed

(D) noimprovement
178.  The chickens in his farm are fatted up nicely.
(A) are fattening
(B) arefattying
(©) arefattened
(D) noimprovement
179. Twasangry at myself for making such.a big mistake.
(A) about
(B) with
© on

(D) noimprovement

180. Torture and. trauma has made her a

mental patient.
{A) mad
(B) mania

(© lunatic

(D) noimprovement

JMS-2015/Page22

Directions : In Questions No. 181 to 185, out of the four
alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening
theappropriate circle [ @ ] in the Answer Sheet.

181. Walking insleep :
(A) Sleepy-head (B} Somnolence
(C©) Somnambulism (D) Insomnia
182 A person who leaves his own country in order to go
and live in another :
(A) emigrant (B) refugee
(© immigrant (D) expatriate
183. Showing a dislike of anything improper :
(A) crude (B} prim
(O strict (D) rude
184. That which cannot be avoided :
(A) inevitable (B) indifferent
(O inestimable (D) infallible
185. Artistic, musical or dramatic interpretation :

(A) reparation
(C) “imitation

{B) report
(D) rendition

Directions : In Questions No. 186 to 190, four words are
given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

186. (A) curiosity (B) quriocity
(O curiousity (D) curioucity
187. (A) Intecedent (B) Antecedant
(O Antecedent (D) Entecedent
188. (A) Symetry (B) Cemetery
Q) Cemetary (D) Cemetry
189. (A) naseating (B) maditation
(© delibarate (D) aberrance
190. (A) ansestral (B) encestral
(©) ansastral (D) ancestral
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Directions : In Questions No. 191 to 195, youhave a passage
with 5 questions. Read the passage carefully and choose
the best answer to each question out of the four alternatives
and mark it by blackening the appropriate circle [ @] in the
Answer Sheet,

Research is a detailed study of a subject undertaken
on a systematic basis in order to increase the stock of
knowledge, including knowledge of man, culture and
society, and the use of this stock of knowledge to devise
new applications. It is used to establish or confirm facts,
reaffirm the results of previous work, solve new or existing
problems, or develop new theories. To test the validity of
instruments, procedures or experiments research may
replicate elements of prior projects, or the project as a
whole. The primary purposes of basic research are
documentation, discovery, interpretation or the research
and development of methods and systems for the
advancement of human knowledge. There are several forms
of research : scientific, humanities, artistic, €Conomic, social,
business, marketing, etc.

Academic publishing describes a system that is
necessary in order for academic scholars to review the work
and make it available for a wider audience. Most academic
work is published in book form. There is also a large body
of research that exists in either a thesis or dissertation form.
Many researchers spend their time applying for grants for
research funds. These grants are necessary not only for
researchers to carry out their research, but also as a source
of merit.

191. How many kinds of research are there ?
(A} There are seven different kinds of research.
(B) There are different kinds of research.
(© There is only one kind of research.
(D) There are two different kinds of research.

v 192, Select the answer which best reflects the view

expressed in the passage.

(A) Grants are not based onvmerit.

(B) Researchers neverapply for grants.

(O Research can thrive without grants.

(D) Documentation is important in research.
193. Why is research conducted ?

(A) Research is conducted in order to minimise the
result of previous works.

(B) Research is conducted in order to destroy facts.

(© Researchis conducted in order to develop new
problems.

(D) Research is conducted in order to verify
information.
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194. What is research ?
(A) Research is the destruction of previous works.

(B) Research is the creation of new forms of
knowledge.

(O Research is a process having no practical use.

(D) Research is the attempt to limit the growth of
knowledge.

195.  Choose the most appropriate answer from this

passage.

(A) Academic publishing is meant only for
academicians.

(B) Academic publishing is meant only for
professionals.

(© Academic publishing is meant to benefit the
general public.

(D) Academic publishing is meant only for experts.

Directions : In Questions No. 196 to 200, in the following
passage some of the words have been left out. Read the
passage carefully and choose the correct answer to each
question out of the four alternatives and fill in the blanks,

A team of Indian engineers 196  shown that
digital photographs of the hand may _197 cholesterol
levels in the body and serve as an early warning signal

198  poor lipid health without a standard blood test.
Researchers believe the programme may be _199 _in the
future and __ 200 into mobile phones to enable it to
analyse digital images of the hand captured in the camera
on a mobile phone,

196. (A) Hasbeen (B) Are
(© Have (D) Has

197. (A) Conceal (B} Conjecture
{©) Reveal (D) Conduct

198. (A} Of (B) Before
© At ©) By

199. (A) Resolved (B) Refined
(O Retracted (D) Recorded

200. (A) Formulated (B) Featured
(© Loaded (D) Fixed

-000-
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